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. Which of the following statistical analytical test
is concerned with “Frequency of an event™?

(1) F-test

(2) Paired-t test

(3) Grubbs’ test

(4) Chi-squared test

(5) Question not attempted

- Which of the following is used as a good internal
standard for the determination of sodium in
blood serum?

(1) Calcium

(2) Lead

(3) Lithium

(4) Iron

(5) Question not attempted

- Which is commonly used for quantitative
analysis in HPTLC?

(1) Scanning densitometer

(2) High performance liquid chromatography
(3) Flame ionization detector

(4) Infrared spectrophotometer

(5) Question not attempted

- The pH range in which weakly basic anion
exchangers are used -

() 1-9 _
@ 1-14 [=]:A[s]
(3) 914 e
(4) 9-12

(5) Question not attempted

- The reverse-phase chromatographic system

consists of -

(1) a non-polar stationary phase and polar
mobile phase

(2) a polar stationary phase and a polar mobile
phase

(3) a non-polar mobile phase and polar
stationary phase

(4) a non-polar stationary phase and a non-polar
mobile phase

(5) Question not attempted

1. =feafReag & 9 @9 |iREga &1

fageunes wieror “fel 'ed @1 Sghy Al
IRARAT’ ¥ Hafdd 87

(1) F—uieror

(2) gfa—t oRiefor

(3) Tsq UXIEToT

(4) PHrE—aT g

(5) rgaRd e

. frafafReg 4 @ fPger SuanT < 9RA H

qifeas & fFuRo @ iw o = raRe
Ao @ dR W fBar sar 87

(1) ofceras

(2) s

(3) forferam

(4) 3=+

(5) argaiiRa we

- HPTLC ¥ #=e favaww & fov M

foraaT STarT fHar Sar 87

(1) e SReHeR

(2) sE-wRBHY fofdas s
(3) T (Sareln) TP fecaex
(4) 3RS AFIpledex

(5) srgaRa we

- 9% pH W e gder &Ry oA fafas

&1 SUINT BT & —
(1 1-9
(2) 1-14
(3) 9-14
4 9-12

(5) srgaRa ue

. IehYI—UTaRIT quleiRgeT gomell F wnfae &ran

3

M & gdm Rer yawen iR a6 gad
Tfereiie wra=er

(2) a gara Rer grawer iR U@ gdra s
TR

(3) e gd Tfoelar urawen R tE gam
Rer yra=en

(4 T Iggd ReR urawenm iR U IpE
HIGHIGRCIERS]

(5) srgRa ye
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- Let A and B be two events in the same sample.

The conditional probability of B, given that
A has already occurred, is denoted as -

(1) P(BnA)

(2) P(AIB)

(3) P(ANB)

(4) P(BIA)

(5) Question not attempted

+ Find the correct statement about density gradient

centrifugation technique used for biological

samples -

(1) In zonal method, a self-generating gradient
forms during centrifugation.

(2) In isopycnic method, sample is centrifuged
in a preformed gradient.

(3) The sample is centrifuged in a fluid medium
that gradually increases density from bottom
to top.

(4) It leads to separation of multi component
mixtures of macro molecules and provides
sedimentation coefficients.

(5) Question not attempted

- Which of the following statement is incorrect

about density of a liquid?

(1) It is measured as mass per unit volume.

(2) The value of density of water at 4°C is
measured to be approximately 1 kg/mL.

(3) It can be measured using pycnometer.

(4) A dimensionless quantity closely related to
density is specific gravity.

(5) Question not attempted

- Errors caused by the incomplete reaction of

analytes in titrimetric analysis fall under -

6. ¥ Y A 3R B §AM THI B &I TN

gl A @ ufeqd 89 W B & =fed 89 @7 93
YIRS ar dI ST WAl & —

(1) P(BN A)

(2) P(AIB)

(3) P(ANB)

(4) P(BIA)

(5) IrgaRa ue

- Y TEl & oy Ugea 99 TaurdT STad vl

TPATP B IR H Tl $UT Bl Ty —

(1) I99a A § ued=u & SRE TP
-SSP Yaural ST & |

(2) sziftee Ay § 9 @ e fFAenfea
guraT § gdfad fHar Siar 21

(3) T BT TH IR ARIH H IfUdiwd fhar
o 2, O g1 R 9 SR @ iR
IR—R ggar g |

(4) S99 98] SRl & qgUcHd @AM Bl
YIGHRUT BT © SR GG UMb T
BT B |

(5) araIRa g3

. frafoRed ¥ 9 59 @ 99 © IR A ®E9l

BT AT &°

(1) ¥ ufy sE AT & SFIH B wY H
HIYT ST 2 |

(2) 4°C TR STl ® T BT A o 1 b
ufer fAefieliex AmT ST g

(3) 3aPT MR & TN BHRA §Y AT S
THdT B |

@) uqeg ¥ Foc w==h e foadE <
faftre o 2|

(5) g<IRT g

- AT ey # faveive! @1 arget srfafear

@ HRUT 9o Fredt fFa Son F el 87

(1) Additive errors B (1) ares Ffedf .

(2) Errors of Method e (2) R s e

(3) Personal errors : (3) =faawa Ffeat

(4) Instrumental errors (4) Sumvoig Fedt

(5) Question not attempted (5) srgaiRa U
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10. Which of the following separation is based on  10- fy=fafaa # & BT gUgHRoT e
solubility differences? fr=7ar R SmenRd 27
(1) Solvent extraction (1) faemas fspyor
(2) Sublimation (2) Fedura
(3) Fractional distillation (3) THTSIT A
(4) Steam distillation (4) w19 3T
(5) Question not attempted (5) srgaRa e
11. Arrange the following compounds in order of ~ 11. fy=faRaa et =1 S ged §Y I A
their increasing acid strength - @ $HH 7 TaRYd P —
[A] o-nitrophenol [A] o—TTTSgIBIATA
[B] p-nitrophenol [B] p—-TECIBIAIA
[C] m-nitrophenol and [C] m—ATSCI%IA el T2l
[D] p-cresol [D] p—hrEta
(1) [DI<[CI<[A]<[B] (1) [DI<[CI<[A]<[B]
(2) [DI<[C]<[B]<[A] (2) [D]<[C]<[B]<[A]
(3) [Al<[B]<[C]<[D] (3) [A]l<[B]<[C]<[D]
(4) [C]<[D]<[B]<[A] (4) [Cl<[D]<[B]<[A]
(5) Question not attempted (5) IrgaiRa W
12. The repeatability of a result observed for 12. & &I XIf3r @ QrE¥T Y A9AT & forw ufd
replicate measurements of the same quantity is HECIGRIESIGEC TN'I‘C{%[ P HET oAl & —
called - (1) uRyear
(1) Precision @) 5
(2) Accuracy :
(3) Degree of freedom () =@ 1 Hife
(4) Error @ Ffe
(5) Question not attempted (5) 3rg=IRa we=
13. The square of standard deviation is called - 13. A% e &1 97 FHEar 8 —
(1) Mode 5 (1) 9ga®
(2) Variance S @)
(3) Mean deviation E-ﬂ; (3) 7 e
(4) Mean (4) A1y
(5) Question not attempted (5) srgaifRa e
14. Which of the following separation technique is 14 f=faRea # & @I gIg@xoT  doid
used for the separation of non-volatile polymeric AT dgold uerRil @ JIFhNUT & ferg
substances? Tgad BT ST 27
(1) High performance liquid chromatography (1) I=g frwes g9 aofeifRaa
(2) Fractional distillation (2) gaTSl 3THa
(3) Gas-solid chromatography (3) —3rg guicifRaasT
(4) Gas-liquid chromatography (4) g—=q quicifRadT
(5) Question not attempted (5) e,rjaﬁa o
68-% Page 4 of 32
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1. Significant figure of the actual result of  15. #2967 X 002435 » a0 oy = e el
————42'%07.3: :’32435 is denoted by - ﬁ@;.s;::aﬁﬁ fpar a7 &7
(M 076929 (1) 0.76929
(2) 0.77 @)y 077
(3) 0.769 (3) 0.769
(4) 0.76 (4) 0.76
(5) Question not attempted (5) rgaRa ueH
16. The incorrect statement about advantages of 16. fdg-EgSI Solgsls & o @ IN H I
Quinhydrone electrode is - HAT T —
(1) It is highly accurate in measurement. (1) g8 9194 4 s o B |
(2) It is free from errors. @) T8 e g B |
(3) It can be used in solution of pH greater (3) IE 8 ¥ 7f¥® pH dTet fderd & forg SuanT
than 8. Bl 2|
(4) It attains equilibrium rapidly. (4) T Sirgar | \rTaReT RIUd &Rl © |
(5) Question not attempted (5) srgaRa ueA
17. What will be the molarity of NaOH solution, 17- If§ 4.0 I NaOH &I 250 el el # grel
if 4.0g NaOH is dissolved in 250 ml of water? AT 8, 9 NaOH faeras &) AreRdr a1 srfi?
(1) 04M (1) 04M
(2) 0.04 M (2) 0.04 M
(3 0.1 M (3 0.1 M
(4) 0.01 M (4) 0.01 M
(5) Question not attempted (5) 3rgaRa usA
18. In UV - Visible spectroscopy, the radiant power 18- TRISTI—gza WagRdpdl H, T §RI FaNRd
transmitted by sample is known as - fafaeoft wifee &1 <= <Imar & —
(1) transmittance E3E (1) greT=ar
(2) transmitted intensity E{;&“E‘»‘é (2) waRa daar
(3) extinction coefficient (3) fasira= [onieh
(4) optical density (4) yeIRe o+
(5) Question not attempted (5) srgTIRa ueA
19. The buffer action of a basic buffer is maximum 19 &IF R P B fhar waifds skl & 99 —
when - (1) pH = pKa— pKs
(1) pH = pKa — pKs (2) pH = pKw — pKs
(2) pH = pKw — pKs (3) pH = pKs
e (4) pH = pKw + pKb
(4) pH = pKy + pKs s
(5) Question not attempted (5) IFTRT e
68 - % Page 5 of 32




20. Which of the following statement is incorrect ~ 20- for=feiRad # ¥ HIFAT HAT gsfdcdedl HUes
about Inductively Coupled Plasma-Mass ST WagAfAfa (ICP-MS) & aR ¥ e
Spectrometry (ICP-MS)? 87
(1) In this technique only qualitative-analytical ) W qeie # favefa fbv v T 9

information is obtained related to analysed I Bact oS faTeryoT SRRy W
Bl & | ,
. (2 T 1 faga aua gRT e} fHar o

(2) Sample can be introduced by electrical 8
heating. !

g (3) ST SUIRT H{IATNH HIaA—ERor § fba

(3) Itis used in geological dating. i

(4) It is applicable to analyse almost all the (4) 7% Tgd P9 [EAT R T L
elements at very low concentrations. fvemor B3 @ forg SUgTE 2

(5) Question not attempted (5) srgaRa weA

21. The pair of auxochromes among the following  21- fay=ifeiRaa # & sifasiepm &1 g™ & —
15> (1) —COOH ; R—NO,

(1) —COOH ; R—NO,

( —N=N CONH e

. FlAE () —NH, . —OR
'(3) —NH,. —OR TR
E!:a:ll—t- ] () 5] c=o0

(4) —N=N—, )C=0 —N=N— )C=

(5) Question not attempted (5) JrRd ue

22. Find the incorrect statement about propagation 22 ﬁl‘gﬁ azrq'ﬁa fafexor & Hawor & IR # T
of an electromagnetic radiation - HUF Bl WY —

(1) During propagation in vacuum, the velocity ) i . 3 -3 2 -
of electromagnetic radiation is at its aa s
minimum value. BlEagig A ATH AT T EI E |

(2) When this radiation propagates in a material (2) 19 g7 fafdor fe< +ifoe argq # SaRa
medium, then electromagnetic field of the gIaT 8, a1 fafexor &1 figa geoa a5 s9
radiation interacts with the bound electrons Tl @ IR sogetEl @ e S
of the matter.

fopar @var &

(3) The velocity of electromagnetic radiation is L i :
independent of  wavelength  during @) faid & weRor & <RE faEgd dewn
propagation in vacuum. fafd=or &1 97 TRTREd | Wad 8T © |

(4) During propagation, the electric field (4) WexoT & N R &9, g9 &5 B
oscillates in a plane perpendicular to the S e 3
magnetic field.

(5) Question not attempted (5) srgaRa we
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23. The isoelectric point of an amino acid is defined

as -

(1) The pH at which the amino acid is
completely deprotonated.

(2) The pH at which the amino acid does not

23.

AT 3 @ wAfMa faeg &1 aRwRa faa

ST § —

M ae pH R w @AT s gofm:
faureriga 2 Srar 2|

migrate towards electrodes under the i we PH- f@"\; ?q; i ﬁgﬁ ¥ D
influence of an electric field. T | H1 SR T TE A E |
(3) The pH at which the amino acid is most () 215 pH. forsT a Skt ot et ¥ walfeie
soluble in water. T & |
(4) The pH at which the amino acid exists as a @) 98 pH o8 TR A ol T TR
positively charged ion. I B T H ‘:nvfﬁ' BT B |
(5) Question not attempted (5) g ueA
24. In Infrared Spectroscopy, the correct decreasing 24 a7 WaeIpId! A Fr=feRad AP & g9+
order of stretching absorption (ve=) of the HTINTT (Vewo) BT TEAT T A B & —
following compounds is — CH3COCH3 , CH3—COCH,CI, CH;COCHCl,
CH3COCH3, CH3—COCH:Cl, CH3COCHCI,
(A) (B) ©
A) 5 © (1) A>B>C
() A>B>C
(2 B>C>A @ B>C>A
(3) A>C>B @ A>C>B
(4 C>B>A @ C>B>A
(5) Question not attempted (5) srgalRa we=
25. Which of the following gas is preferred as a 25 i guiciRga § ST ATaidal AqEsd B
carrier gas when using thermal conductivity SUART wxa ang fFEfeRag § 9 faa i &
detectors in gas chromatography? qES 1 & w9 § grafidar € ol 87
(1) Oxygen (1) iAo
(2) Sulfur dioxide (2) GoBY SEIfTES
(3) Helium (3) difers
(4) Carbon dioxide (4) BT STRRiTATES
(5) Question not attempted (5) srgaRa ued
26. Which of the following is an acidic adsorbent  26. fS=faiRad & & ST ANy guiciRea ¥
used in adsorption chromatography? g B 91T U 3 JifErenyd 27
(1) Silica gel (1) faferaT St
(2) Alumina () Tgfr
(3) Magnesium carbonate (3) FNRrm @rEFe
(4) Charcoal (4) IRDIA
(5) Question not attempted (5) IrgaRa v
27. Which of the following is a classical analytical ~ 27- fa=feiRad # & HHFUT A=ATHS [AgewT & fag
method for quantitative analysis? frrawa fAveyorers fafer 87
(1) Thermogravimetry (1) emtfaRs
(2) Potentiometry (2) referrg
(3) Gravimetry EAE (3) e
(4) Voltammetry Sy (4) deerEg)
(5) Question not attempted (=] (5) rgaRa ueA
68- R Page 7 of 32




28.

29.

30.

31.

What is the most common flame used in atomic

absorption spectroscopy?

(1) Acetylene-air flame

(2) Methane-nitrogen flame

(3) Hydrogen-oxygen flame

(4) Argon-plasma flame

(5) Question not attempted

Bulk property detector used in HPLC among the

following is -

(1) Conductivity detector

(2) Fluorescence detector

(3) Electrochemical detector

(4) UV-visible absorption detector

(5) Question not attempted

Kiliani-Fischer synthesis involves -

(1) Conversion of an aldohexose into
aldopentose

(2) Conversion of an aldose into ketose

(3) Conversion of an aldopentose into
aldohexose

(4) Conversion of an aldose into its epimer

(5) Question not attempted

Which of the following test is used to

differentiate between primary, secondary and

tertiary amines?

(1) Gilman test

(2) Hinsberg test

28.

29.

30.

31.

(3) Benedict test
(4) Lucas test
(5) Question not attempted

32. Sucrose on hydrolysis gives —
(1) o-D-Glucose+a-D-Glucose
(2) B-D-Glactose+B-D-Glucose
(3) o-D-Glucose+B-D-Fructose
(4) B-D-Glucose+B-D-Amylose
(5) Question not attempted

D5
O

32.

URHTY] ST WIE D H Haiftr A
JUART BT S aTell SaTell DIl 8¢

(1) Sfufee—arg sare

(2) FF—ATZEISA ATl

(3) ETZSIS—3iTedTSTT SaTell

(4) ImfH—dATSHT SaTelT

(8) srgaRa ue

famforRaa # & HPLC # uyad & drell gof
e ¥ (bulk property detector) ¥ —

(1) FrThdT EaD

(2) sfrdfa dxqEs

(3) e RIS HgED

(4) RIS IATINYOT HEAD

(5) sRa we

fopforg-N—fheR Heeryor # 8T & —

(1) T& Yosieduild &I Yesiuers H waiaxoT
(2) TP Yooy BT Bl H SR

(3) U TesIU<iy BT YeerRduld ¥ WUl
(4) U YosIa & 39 UOAR H WUiaRol

(5) argaRa we

foreffaa & | o= e yrifas, fadas
vd g o # fawes & forg sud A
forar smar 27

(1) Frede oderor

(2) fEae uRieor

(3) Jafeae Tetor

(4) T TXIETor

(5) Irg<IRG Uz

FHI T ITECT TR AT T —

(M a—D-— A+0o—D—TeD ISl

@) B-D—erEr+p-D—eT

() o—D—g@Isi+B—D—Hacrs

(4) B—D—7e[@ISi+B—D—fFeirs

(5) argalRa g
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33. Which of the following is incorrect about stereo

34.

microscope?

(1) Tt is useful for routine observation of whole
microorganism.

(2) It is useful for the screening of fruit flies.

(3) It is useful in getting three dimensional
information about the specimen.

(4) Electron gun is used as radiation source.

(5) Question not attempted

Charged-Coupled (CCD), in
fluorescence microscopic technique, is used -

Device

(1) as source of exciting light
(2) as electronic filter

(3) to record fluorescence image
(4) as optical filter

33. Hfen gereeElt @ 9x § =faRag § @ s

34.

Terd 27

(1) g8 vl geaoig & Faffa sacied &
forg Sugrft & |

(2) ¥g we wfdgal & wig & fow Suanf 2

@) I8 TH & IR ¥ B—amr) SHeN ura
FH H ST 2

(4) seragE 9 &1 SUANT fAfexor Wid & wu
H grar 2|

(8) srgaRa wed

g geresll a@de #, smafdm—gfva

f$ars¥ (CCD) &7 Y=FT BT © —

(1) SAfSTa U9 919 & ©9 o

(2) soEie heex @ vy o

(3) yfa<ifta sfa =1 Rare a1 & oy

(@) ymIlte fheex & w9 H

(5) Question not attempted (5) argaiRa ued
35. The bending vibration takes place in different 35 RAff=1 T § 89 aTeT 67 HU7 & —
planes is - (1) Herelt Hw
(1) Roeki_ng vi.brati_on @) s B
(2) Twisting vilbratlon o a 3) . B
(3) Asymmetric stretching vibration ]
(4) Scissoring vibration (4) DA F¥T
(5) Question not attempted (5) argeiRa we
36. The Wien Displacement Law states that the 36. § femua ffom & IgER,  FHOTH
maximum wavelength in micrometers for (blackbody) fafeRor @ fog fGan dxesd
blackbody radiation is 2.90% 10%. What will be (ATSEEIER ) 2.90% 10° R | 4000 K & ¥ fobdy
the maximum wavelength for a blackbody that T BT B oy AT aeTded @ Brf?
has been heated to 4000 K? - D% it
(1) 0.725 pm e
() 7.25 um EyEm @ 725m
(3) 725 um éhﬁ’?’l (3) 725 um
(4) 72.5 pm oy (4) 72.5 um
(5) Question not attempted (5) JrgaRa g
37. Which of the following region is considered as 37 f=foaiRaa # & Si=ar & “fafa wET=" &5
“Vacuum Ultraviolet” region? HET 1T 87
(1) Below 200 nm (1) 200 nm & 4
(2) 200-300 nm (2) 200-300 nm
(3) 300-400 nm (3) 300-400 nm
(4) Above 400 nm (4) 400 nm ¥ TP
(5) Question not attempted (5) Srg=iRa weA
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38.

39.

40.

Probability of an impossible event is -
(M %

(2) Zero

(3) 2

4 1

(5) Question not attempted

Which of the following is not a lipid?
(1) Triacylglycerol

(2) Atropine

(3) Lecithin

(4) Cholesterol

(5) Question not attempted

The quantitative measurement of separated

analytes by thin-layer chromatography may be

done by following apparatus -

38. ep Mg TSI BT UIRASHAT BNl & —

39.

40.

1) %

(2) T

(3) 12

@ 1

(5) sraRd Uz
fr=foRaa § & @149 & foafis ==l 87

(1) grsefiaRasRia

(2) g

ORCIGIDE

(4) DreREId

(5) argaRa ue

TAel—URT JUiIRIaT §RT 9erd fobg T¢ fagersal
B AETHS A9 F=feriRad Iuexor g1
ST |l © —

(1) Ostwald viscometer EFE () siRcdres fawpRamrd
(2) pH meter E‘;}*g (2) pH =191
(3) Stalagmometer (3) wormHEIER
(4) Densitometer (4) ggHmd
(5) Question not attempted (5) IrgaRa U
41. Amax value for the compound - 4. Pfp B Y Amax BT AF & —
| |
ACO ACO
(1) 254 nm (1) 254 nm
(2) 235 nm (2) 235 nm
(3) 381 nm (3) 381 nm
(4) 353 nm (4) 353 nm
(5) Question not attempted (5) srgaRd ue
42. Which of the following is a suitable source for  42. ffaRad # | P 3T AIgIBICHICR B
infrared spectrophotometer? foy e Suged 91 &7
(1) Hydrogen discharge lamp (1) gssoM fewrs og
(2) Tungsten filament (2) eq g
(3) Globar filament (3) “HER g
(4) Xenon discharge lamp (4) SN e <
(5) Question not attempted (5) srgaRa wed
68-% Page 10 of 32
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43.

44,

45,

46.

47.

Select the incorrect statement about microscopy

among the following -

(1) In TEM, the reflected electrons penetrate the
whole thickness of a section of specimen.

(2) Dark field microscopy is useful to study very
minute organisms such as treponema
pallidum.

(3) The resolution of lens does not depend on
wavelength of light.

(4) Ability to demonstrate closely set points as
separate and distinct is called resolution.

(5) Question not attempted

If temperature of solution is increased above

25°C, what will be the expected change in pH?

(1) pH will be independent of temperature
change.

(2) pH will increase continuously.

(3) pH will decrease.

(4) pH will increase first then become stable.

(5) Question not attempted

In ultracentrifugation, the main parameter that

determines separation is -

(1) Boiling point of solutes

(2) Density gradient and
coefficient

(3) Presence of surfactants

(4) Molecular weight of solutes

(5) Question not attempted

What is the probability of getting an even

number when rolling a fair six-sided dice?

(1) %

sedimentation

@ v EE
o =
@ %

(5) Question not attempted

The product obtained by the reaction of glucose
with bromine water is -

(1) n-hexane

(2) Saccharic acid

(3) Gluconic acid

(4) Pentabromo glucose

(5) Question not attempted

43.

44,

45.

46.

frefefed & 9 el @ dda & srae B

BT T HINTY —

(1) TEM # Wafid geragi, ufdesl & 9mr 3
ol AielE 3 9fed &R 2 |

@ i a3 geeeft gumm dferew W9
Ffoged Sfal & seaas & forw uygad g
=l

() o &1 veT g @ a¥resd IR iR
TE BT B |

(4) e fagel &1 e B TeiRid s
B &g BT T Bed 2 |

(5) srgaRa g

e fae@ &1 IUEE 25°C & SR 9817 1,

ar pH # @1 gRads miféra grm?

(1) pH a9 gRadq w R 87 weft |

(2) pH < AOR g9 |

(3) pH T |

(4) pH usdl et v Rer & wimefy |

(5) SR ue

FETARITLIRE 3 gUadHvy &1 fFuiRa &

1T & HRS FIT 27

(1) el &1 FgeETe

(2) g9 gavurar iR FEATET ONE

() g wfbge @1 IuRerfd

(@) faerdl &1 SIfds AR

(5) argeIRd e

Th M9 B BadI N Bhd U GH ST
I P FHEGAT F4T 27

(1) %

(2) 15

(3) %

(4) %

(5) srgaia v

- TG B SEE O @ |y fAfar & ura

IAE 7 —

(1) n-gi

(2) dBR® v
() @IS v
(4) YeTeaEr T
(8) sraRa gw=

68 - %
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48,

Which of the following technique can be used for
the analytical measurement of hydrodynamic

48.

frafaReg § @ 9 deae T ST

properties of cellular organelles? aoe & forg far o w@ar &7
(1) Gas chromatography (1) 9 qoieiRga®
(2) Centrifugation (2) =0T
(3) Solvent extraction (3) faamas fApyor
(4) Thin layer chromatography (4) Ugell R qUiciRaa!
(5) Question not attempted (5) IrRa wed
49. The formula to calculate standard deviationis - 49- A& fage AT PR &I G & —
M _ [Elew M [Eeew
N N
(2) G=JE(§(B (2) _ Z%i E:ixu)
moz {M (3’G= ZiL, Ga-w?
N N
@ o= Bz rS(i-u) @ e ,Z{Ll Scru)
(5) Question not attempted (5) iR ued
50. Which of the following electromagnetic waves  50- f=iforiRed % & @< g deara o<l ol
has the highest frequency? amgfr wew Afde Bl 27
(1) X-rays (1) gFE—=x
(2) Infrared rays (2) sraxa fp=ol
(3) Radio waves (3) fear o
(4) Microwaves (4) grgHIIH
(5) Question not attempted (8) srgaRa weA
51. Buffer solutions can be prepared from — 51. qor Ao 9910 ST 9ad & —
(A) Sodium acetate and acetic acid in water. (A) o1 ¥ |IfTs Ve qer WHits ord ||
(B) Ammonium hydroxide and ammonium (B) Wi # IMI-g9 eSsiaags a1 MIFIH
chloride in water. FERISS ¥ |
(C) Sodium acetate and HCl in water. (C) wi@ # |ifea® Ydice @ar HCL 9 |
The correct option is - " e faded & —
(1) (B) and (C) EEE o) @)
(2) (A) and (B) E#E (2 (A)Tdar(B)
(3) Only (A) (3) Baa (A)
(4) (A)and (C) (4) (A)TaT (C)
(5) Question not attempted (8) srgeiiRa wed
52. The keto-hexose among the following is - 52. fa=forfRaa & & Fe-—saa & —
(1) Galactose (1) deraers
(2) Fructose (2) waersT
(3) Mannose (3) T4
(4) Xylose (4) SrEArsT
(5) Question not attempted (8) IrgaiRd weA
68-% Page 12 of 32



53.

What is the selection rule for the pure rotational
Raman spectral transitions of linear molecules?

(1) AJ =+ only

(2) AT =0 only

B) AT=0,%£1,%2

(4) AT =0, or £2 only

(5) Question not attempted

53.

& fore o= | w7 27
M AT=+97F

(2 AT=09=

(B) AT=0,+1,+2

(4) AT =0, 3rer@r + 2 914

(5) SreIiRe wee

4. Scientist who first invented chromatography - 54. Jenfie forsiv |dues quiciRaa &1 snfaser
(1) Tswett ?jmﬁ;
(2) Martin
(3) James (@) e
(3) s/
(4) Randall (4) m
(5) Question not attempted (5) srgaRd Te
5. Which microscopic technique provides images  55- ®IFIl eHGET THAIH TH7 B YR B dTel
formed by electrons that transverse the sample? SogeAl gRT 9918 T8 Bfad yg HRdY 27
(1) Transmission electron microscope (1) TR Solag genge
(2) Scanning electron microscope (2) WA goag gesTaet
(3) Field emission scanning electron microscope (3) &5 IS EhIT Foiag Geaaem
(4) Reflection electron microscope (4) WREdT geigel qi&qarsﬁ
(5) Question not attempted (5) srgaRa W
56. What is incorrect about Electromagnetic 56- fdg[d g fafdor (EMR) & Hee § T Totd
Radiation (EMR)? 2?7
(1) It has the properties of the sine wave. (1) 389 |Z9 @7 & 0T 81d © |
(2) It travels in a straight line when refracted. (2) safia 89 9x I8 ARl Y@ # THT Hl
(3) It may be considered as a simple harmonic =l
wave. (3) U O EEIMG T AT S Hhdl & |
(4) Visible light is a part of EMR. (4) T USTY (EMR) FT b 91T & |
(5) Question not attempted (5) srgaRa U=
57. 2CH, - CH, +30, (CHBCEO)zMn > [X] 57. 2CH, —CH, +30, (CH3C§O)2M“= x]
The product [X] formed in the above reaction SR AfhaT & 999 91el ST [X] & —
18 - (1) CH3COOH
) GO0 EFE (2 (CH3):C—OH
(2) (CH3);3C—OH T
(3) CH:;OH Eacy () CHOH
(4) HCHO (4) HCHO
(5) Question not attempted (5) srg<iRa U
58. Predict the product of reaction between 58. 2—HfE—1-FcHAld Ud BIRPRA TRIAGS B
2-methyl-1-butanol and phosphorus tribromide - T2 JAMAfHAT B ST DI JFFHAH Y —
(1) 2-Methyl-1-bromobutane (1) 2—Afrd—1—sHgeA
(2) 2-Methyl-1-butene (2) 2—HfF—1-=g&1=
(3) 2-Methyl-2-bromobutane (3) 2— AR 2R
(4) 2-Methyl-2-butene @) 2—RrEF—2—=EH
(5) Question not attempted (5) argaRa e
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59. Which of the following is not a type of rotor used
for a high-speed centrifuge machine?
(1) Vertical
(2) Fixed angle
(3) Swinging bucket
(4) Microfuge
(5) Question not attempted

60. The correct statement regarding accuracy is -
(1) Measurement close to each other.
(2) Measurement nearness to the true value.
(3) Reproducibility of measurement.
(4) Repeatability of measurement.
(5) Question not attempted

61. The adsorbent among the following having
highest adsorptive power in column adsorption
chromatography -
(1) Charcoal
(2) Cellulose
(3) Silica gel
(4) Alumina
(5) Question not attempted

62. Which of the following chromatographic
technique can be applied to separate proteins
from a mixture of amino acids, low-molecular-
mass peptides, and proteins?
(1) Gas-chromatography
(2) Size-exclusion chromatography

. (3) Gas-liquid chromatography

(4) Gas-solid chromatography
(5) Question not attempted

63. The measure of the ability of a lens of

microscope to collect light from the specimen is
called -

(1) Numerical aperture
(2) Light strength

(3) Basic aperture E{ﬂ?
(4) Basic strength : OEY%

(5) Question not attempted

59.

60.

61.

62.

63.

frafoRaa & @ @ ST B gd
araagor 7Y #F SqAnT # forg W aret Riex
BT UH YHR 8] o7

(1) S

(2) Rer @I

(3) o e

(4) ATSHITIS

(5) FRe U

JreiaT & Ry H el HUF © —

(1) 919 6T Th TR P e B

(2) 51q B ardfas A4 | e

(3) HIY ®I YTocaIa & |

(4) 19 BT TIE |

(5) Irg<iRd we

- auioiRes) § fefalRaa § 9
Ffdeye Rraed ifdrenyor emar |aits & —
(1) IRDIA

2 Jgar

(3) fferaT e

(4) T

(5) Irg<RT we

frrfiRaa # ¥ B! auiciRaadT d@d-iid Bl
I AT 37, FH—IUMR Tl UeTSE],
wd AIEET & s # | 9IEE B gUe e
o forg fvam o wepar 27

(1) i goiciRaa!

(2) IMHFR—MUFSH guiciRaes]

(3) —=a guiciRas!

(4) g—ar goiciRgas!

(8) IR ue

T UG BT YHAT B D ASHIDIT D
oI &) &Har &Y A BT Bed © —

(1) F=HD TR

(2) yaTer AT

(3) & R

(4) & |

() Srg<aRa g
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64.

In paper chromatography, the paper used for
separation of low polarity substances like fatty
acids is -

64. 3 ydig vareil S g Il BT gUD B

;ﬁmmaﬁiﬁiﬁaﬁﬁwiﬁwm

(1) Carboxyl paper (1) wEifeae BRI
(2) Silica paper (2) faferadt wrma
(3) Ion-exchange paper (3) IaT—fafv g srTe
(4) Acetylated paper (4) YRafeeiid drms
(5) Question not attempted (5) ergafd ue
65. The example of secondary standard is - 63. fg<iig® AFS &1 ISTERT & —
(1) Sodium tetraborate 1 (1) |If$Td cgERe
(2) Oxalic acid E_ﬁ@ (2) sifrifers st
(3) Potassium hydrogen phthalate [m] %% (3) TeRrM BssIoF S
(4) Potassium Permanganate (4) grefl¥rE wdTEe
(5) Question not attempted (5) srgRIRT uw
66. Qut of the following buffers, which one does not ~ 66. fr=ifoiRag aw’i § & ®HAT TH THY g
produce radicals during biochemical analysis? ARG ey & RM qod Sa T8l
(1) Tris (hydroxymethyl) aminomethane (Tris) PRAT? "
(2) 3-(N-Morpholino) propane sulfonic acid () o (STegraiifenge) sPiIAe (Tris)
(MOPS) (2) 3-(N-ATBIfe) T Fehif=e 3T
(3) Piperazine-N, N'-bis-2- ethanesulfonic acid 3) (&MEOP.?S)_N, L - e o
REEE (PIPES)
(4) N-2-Hydroxyethyl piperazine-N'-2- @) N-2-EEsiafigaEe iR N-2-
ethanesulfonic acid (HEPES) ZATHBID a7l (HEPES)
(5) Question not attempted (5) Gﬂﬂﬁﬁﬁ 9T
67. In two-dimensional separations of thin-layer  67- Udell—uRa guiciRge & f3fadg geramxor #§ —
chromatography - (1) aoier R < arenT RieTast B w T
(1) Chromatogram development is performed o P 90° N U P AR TRUEE aNid
with two different solvents in stepwise 3 freafeg faar srar 21
manner by rotation of plate by 90°. (2) aofo RN s & Rd™e © 9 s
(2) Chromatogram development is performed IR g frar wmar 2
with single solvent for once. (3) guieng AT e 3T Regat & e T
(3) Chromatogram development is performed @ R PO & To @ Freie fear s
wxﬁ two dittferent solvents simultaneously 3
W tron. 2 £ = :
(4) Clllroﬁ;tr(?;am development is performed @ TP @ T
22 T, ; ©IC B 90° WX YU & | & IR TRUGH
with single solvent for twice in stepwise et
manner by rotation of plate by 90°. N fevam s %
(5) Question not attempted (5) srgeia oo
68. What is incorrect about azulene? 68. Tl @ IR H T T 87
(1) It possesses one nitrogen atom. (1) S99 U@ ISgINA URATY] 81T 2 |
(2) It is a blue solid at room temperature. (2) HFX B qY R Ig§ TP el o 2 |
(3) Itis an aromatic compound. (3) 7' vs WREfed diffe 2
(4) It shows aromatic substitution reaction. (4) gz Wafes yfaemus fafshar <uilar 21
(5) Question not attempted (5) Irg=IRea we
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69.

Which of the following analytical technique

involves interaction of electromagnetic radiation

with ‘K’ and ‘L’ electrons?

(1) Mass Spectrometry

(2) Inductively coupled
Spectrometry

(3) X-Ray emission Spectroscopy

(4) UV-Visible Spectrometry

(5) Question not attempted

Plasma-Mass

69.

frfaReg & @ s« fAweorsis  doeile
faga deaa fafe=ol & K @ L’ soagiHl
B G AT BT MAAT BT 87

(1) 78 Wagmg!

(2) ssfacae Fuce TTHI—ATE WagHg!

(3) verg—fpvor S Wag b

@) RIFTH-g7 WagRg

(5) Irg<IRa gz

70. Find the median of the data set - 70. f=foRaa Ser de & fou wifta®r (HifsTE)
19, 34, 22, 15, 25, 10 ST BN —
(1) 22 19, 34, 22, 15, 25, 10
2 19 g; fg
S BaE @ 205
(4) 215 OEY%: @) 215
(5) Question not attempted (5) srgaARe e
71. Which of the following is incorrect about the 71. fym=folRaa # & war UdHl & ABRHRor &
denaturation of proteins? IR H TAd 87
(1) It may be caused by strong acids or bases. (1) I8 ydaT 3l a1 &RI & §RT & 9ol © |
(2) It causes a fundamental change in protein. (2 389 W ¥ Herqa uRads 8 & |
(3) It is reversible in nature. (3) gE SopHviig USfa &1 2 |
(4) It causes precipitation. (4) 3HY IFEIYT BT B |
(5) Question not attempted (5) srg<iRe Uz
72. Which type of electronic transition is regarded as 72 & USHR & gD HHAY DI "R-4S" Pl
“R-band”? STaT 27
(1) n— o* (1) n—o*
(2) n — n* (2) n — n*
() n— m* (3) 1 — 7*
4) ¢ — o* @) ¢ — o*
(5) Question not attempted (5) argaRd ued
73. Five-membered cyclic ester is known as - 73. Uig—HeIg TPy YRR ST Sl § —
(1) Y-Lactam (1) Y—geH
(2) §-Lactam (2) o—ctaeH
(3) &-Lactone (3) o—ctae™
(4) Y-Lactone (@ Y—dgeH
(5) Question not attempted (5) IrgRa ued
74. pH of M/200 Ca(OH): solution is - 74. M/200 Ca(OH), fde@< &1 pH & —
(1 2.0 (1) 2.0
(2) 11.6 (2) 11.6
(3) 12.7 3) 127
4 120 (4 12.0
(5) Question not attempted (8) SrRd e
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75.

. 76.

77.

78.

79.

Which of the following does not give Iodoform
reaction?

(1) Isopropyl alcohol

(2) Benzaldehyde

(3) Acetaldehyde

(4) Butanone

(5) Question not attempted

Which of the following word is included in
Section 196 of Bharatiya Nagarik Suraksha
Sanhita?

(1) Sub-Inspector

(2) Metropolitan Magistrate

(3) Magistrate

(4) Medical Officer

(5) Question not attempted

Who introduced the concept of
‘Likelihood ratio’ to calculate the chance of
occurrence of the event?

(1) Pythagoras

(2) Reverend Thomas Bayes

(3) Alan Guth

(4) Timothy Lee

(5) Question not attempted

Which of the following is the correct method to
lift fired projectile?

(1) With bare hands

(2) With metal forceps

(3) With adhesive tape

(4) With rubber tipped forceps

(5) Question not attempted

The first central forensic science laboratory was
established in which of the following cities?

(1) Madras

75.

76.

77.

78.

79.

Wﬁ@ﬁwm@ﬁaﬁmﬁ
?

(1) AW Teblgdl

(2) dofesess

(3) vArefecess

) =ge=H

(5) rgaiRe e

IR FRTRS JgRem Hfear &1 a7 196 3§
Wﬁﬁmﬁwwa&ﬁﬁﬁa—mw
5

(1) Je—sqFex

(2) AgmIfees Ik e

() IR

(4) =Hfecar sfeery

(5) orgaRa Te

Hedl & gfed 8F &) FUaHT B 0T B B
forg GvrEeT U’ @ srauRenm e ¥ 9@
fheTe gIRT U @t 27

(1) gTUTrTRY

(2) YN oMY 9T9

(3) Ter T

(4) femrel o

(5) IrgaRT ue

= 4 9 o9 R T W doaeEa @Y
UHT B B |e) fafy 272

(1) Tl st 4

(2) grg BIRAY B FrJ

(3) vsefig 2u & G

(4) R fouy BRAT & |

) sgaRa v

JH B BRNS fAsE GIRTeE
F=foRaa e e & enfia @1 78 of1?
(1) 5g™

(2) Shimla (2) R
(3) Calcutta (3) werp<
(4) Hyderabad @) texEE
(5) Question not attempted (5) ergaiRa ued
80. Cyanide is excreted by conversion to which of  80. WIAIEse fr=ifeRad ¥ ¥ frg YediaEe J
the following metabolite? [UCRYT §RT ScAfTd BIaT 87
(1) Sodium cyanate (1) |ifsgq wgqe
(2) Isocyanate 36 (2) IFFEERAT
(3) Potassium cyanate ....q.u.‘; (3) Urf3rH A=e
(4) Thiocyanate [=]%¢ @) UrEREe
(5) Question not attempted (5) srgaRd T
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81. Assertion (A) - British Anti-Lewisite (BAL)is  81-
an antidote for Arsenic.

Reason (R) - BAL has 2 unsaturated -SH
groups which combine with
arsenic rendering it ineffective.

(1) Both (A) & (R) are true and (R) is the correct

explanation of (A)
(2) Both (A) & (R) are true but (R) is not the
correct explanation of (A)

(3) (A) is false but (R) is true

(4) (A) is true but (R) is false

(5) Question not attempted

82. Which of the following reagent is used for the 82
detection of Monocrotophos?

(1) Chloranil Reagent

(2) Marquis Reagent 36
(3) Dragendorff’s Reagent -‘J'"!-lg.;'_
O,

(4) FPN Reagent
(5) Question not attempted

83. Assertion (A): The science whichisusedinthe  83.
Court of Justice is called
Forensic Science.

Reason (R): Forensic Science uses
principles of law for the
criminal investigations.

(1) Both (A) and (R) are false

(2) (R)is true but (A) is false

(3) Both (A) and (R) are true

(4) (A) is true but (R) is false

(5) Question not attempted

84. Compounds and the reaction they undergo in 84

Phase-I metabolism is given below. Which of the

following are correctly matched?

Compound Phase-I reaction
(a) Codeine - O-Dealkylation
(b) Heroin - Deacetylation

(c) Parathion Nitro reduction
(d) Cocaine - Ester-hydrolysis
(1) (b), (c) & (d)

() (a), (b) & (c)

() (a), (b) & (d)

@) (a), (c) & (d)

(5) Question not attempted

IfHeA (A) — fafesr vd—afawse @uye)
IRif® & forg t& véieie B

HROT(R)—  diuva ¥ & gw —SH
HE B & O SRIe & |
ey 39 e 91 3T B

(1) (A)Td (R) SHT G4 & 3R (R), (A) BT &l

faevor & :
2 (A)Td (R) SF ¥ § W (R), (A) &1
e faaxor 781 &

3) (A) I 8 WX (R) 9 ©

(@) (A) T & W)X (R) I &

(5) ergaRa ued

frefoRag & 9 fog afeds &1 Suam

HAHIEID BT gdr o= & forg fasar siran

87

(1) wiRIfe AfPHD

(2) wiffFa aIffpds

() $T=1F BT ANFHD

(4) twdigT AfAeHHs

(5) srgailRa wed

F¥pe (A) —fie &3 § o g &
Sy fear o & S™
BRRE s war Sar § |

BRI (R): EINGEIRCE IS N NI BEE
Iy & forg HreA @ Rigral
BT SYANT fHar ST 2 |

(1) (A) 3R R) ST 3T &

(2 (R)W%W(A)m%

(3) (A) 3R R) S ¥

@ (A) 9 ® g (R) 39 ®

(5) IrgaRa o=

U] HAediforod d 9 R dffrel 8k

gfafsarel & [oRad § 9 @ kg 1w F)

frfoaa # 9 @9 ¥ | gafea 872
Iifre =Ru-1 gfafear

(a) BT —  N—SepgawH

(b) BRIHA —  3IufyergeeE

(c) femm - F=g Rewm

(d) BB — UEX-gIgsiferd

(M (), (c) R (d)
(2) (a), (b) 3R (c)
() (a), (b) 3R (d)
@) (a), (c) 3R (d)
(8) srgaiRa we
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85. Which of the following statement is true abouta  85.
full agonist in Pharmacology?
(1) It binds to a receptor and produces maximal
response.
(2) It does not bind to the receptor.
(3) It binds to a receptor but does not produce a
maximal response.
(4) It only binds to receptor & has no effect on
receptor’s activity.
(5) Question not attempted
86. The main metabolite of cocaine in blood and  86.
urine is -
(1) Cocaethylene
(2) Benzoylecgonine
(3) Methylecgonine
(4) Ecgonine

(5) Question not attempted
87. Conway dish is a part of which of the following  87-
Isolation technique?
(1) Digestion EE
(2) Absorption s ST
o OFY

(3) Microdiffusion
(4) Sublimation
(5) Question not attempted
88. Which color test is used for the analysis of  88.
cocaine?
(1) Marquis test
(2) Mandelin test
(3) Duquenois — Levine test
(4) Gold chloride test
(5) Question not attempted
89. Which of the following is NOT a step in the 89
evaluation of crime scene?
(1) Recording statements of witnesses
(2) Documentation of crime scene
(3) Protection of the crime scene
(4) Searching of physical evidence
(5) Question not attempted

I fasm # Pof ume o wdfdm

fofRaa § 9 S9aT B9 9 27

(1) g8 RAer | duawx, Afeaa ufdfea
I~ HIAT B |

(2) 77 RA<x 9 =781 guar|

B 1E v RS 9 suar 2@ «w® feas
gfafshar Sa= T8 &R |

(4) g S RA<Y 9 §9a1 8 TR 59 W B
gfafsear T8l &=an|

(5) srgiRa ueA

G Td HF H BT BT &I ASEIASE § —

(1) PraEie™

(2) =g

(3) fremgerTaf

(4) g

(5) SgaRT g

i oo FA=feaRaa # @ s« gy

THATE &1 Udh o 27

(M) gr==

(2) araeiyor

() AEHIETgT

(4) Sedura+

(5) SrxIRa e

DD P fATemor &g DIAT U0 YA

forar sirar 27

(1) =fdes <=

(2 iefem ===

(3) Sy@HIgHE—dH T

(4) TTies FARSS X

(5) IaRa g

FrfaRad & | PI9T IR™ ©IF & HgidhA

T TR A8l B?

(1) va1El & T SOl HIAT

(2) IR WA BT TRITAOITBHIOT

(3) STURT IS BT GRE

(@) it g & @~

(5) IRa =
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90. In which Section of Bharatiya Nyaya Sanhita 90
2023, punishment for negligent conduct with
respect to poison is described?

(1) 286 BNS
(2) 241 BNS
(3) 296 BNS
(4) 355 BNS
(5) Question not attempted

91. Which of the following instrument is used for the ~ 91-
assessment of respiratory status?

(1) Tintometer EHE
() Ghllcometer ﬁr;f,'%
(3) Spirometer

(4) Densimeter

(5) Question not attempted

92. Herbicide Paraquat is analyzed by ultraviolet  92.
spectroscopy at which of the following
wavelength?

(1) 257 nm
(2) 280 nm
(3) 320 nm
(4) 420 nm
(5) Question not attempted

93. The informational evidence gained from  93.
statements from witnesses is called -
(1) Expert evidence
(2) Circumstantial evidence
(3) Testimonial evidence
(4) Direct evidence
(5) Question not attempted

94. National Crime Records Bureau (NCRB) has 94
classified crime via victimology. Which of the
following is not a type of crime classified by
NCRB?

(1) Property crimes

(2) Crime against animals

(3) Cyber crimes

(4) Crime against women

(5) Question not attempted

YRAY = wdfear 2023 @) f5g axT A iy &
Heer # ATIRATEQUT TERT & forg &€ @1 gviF
forar ar 87

(1) 286 dIgAgH

(2) 241 §iggH

(3) 296 dgTH

(4) 355 diggH

(8) srgalRe uz

a1 Refy & srieeq & forg M=faRaa few
SUBRYT BT SUANT fhar e 87

(1) foeerfiex

(2) @R

(3) wTsRIEeR

(4) sgriex

(5) argaRa g

gfiass W @1 fAvemer  wETE
Waerapg gRT A=fafag fea avmesd W=
forar <irar 87

(1) 257 nm

(2) 280 nm

(3) 320 nm

(4) 420 nm

(8) srgaRRa v

ARl ® qAE W U GIAAD HIed Bl BEl
ST & —

(1) gaqud wEmor

(2) gRRefIS= wHToT

(3) ST yHIT

(4) gcger gHI9T

(5) SrgaRd U

T TR RS RN (TTARRET) 7 AIRE
31 N s & wrgw ¥ F*ffga fFar 2
fforRadg & 9 BT IR TSR H
TG URTY & YHR 8] &7

(1) Hufky o™

(2) uggeli & fIog oTR™

(3) ATZN IR

(4) wfEemel & faog ruRwE

(5) rgaRa ue
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95. Which of the following is not a cardiovascular

96.

97.

98.

99.

poison?

(1) Aconite

(2) Digitalis

(3) Quinine

(4) Belladona

(5) Question not attempted
Which of the following is an antidote for
organophosphate poisoning?
(1) Oximes

(2) Flumazenil

(3) Glucose

(4) Naloxone

(5) Question not attempted

Benzidine solution is a part of which of the
following kit?

(1) Blood test kit

(2) Fingerprint kit

(3) Photography kit

(4) Footprint kit

(5) Question not attempted

Estimating cyanide with 1 ml of N/200 silver
nitrate solution titration can calculate how much
KCN?

(1) 0.515 mg KCN

(2) 0.652 mg KCN

(3) 0.266 mg KCN

(4) 0.4915 mg KCN

(5) Question not attempted

................... color test is used for the
detection of carbamate pesticide.

(1) Ferric Chloride test

95.

96.

97.

98.

99.

frfaRaa § o9 FrfSsiavger fay =& &7

(1) TaHEe

(2) feforcforam

(3) fra=

(4) e

(5) IrgailRd wed

frfaRed # | diwr AFEwRGe AyTea
% forg geeie 27

(1) Siffas=a

2) T

() @

(4) Sl

(5) srgaRRa u=A

IS e FefaiRea # 9 f fove &1 e
27

(1) Y& 9iEr fbe

2) S RfU< fae

(3) wreu®! fdhe

@) wefre fre

(5) IrgaRa o=

AT S BT IFHA 1 A N/200 iR Arsge
Hiet STFATIT & ArRf 0T B fdar KCN g
BITT?

(1) 0.515 mg KCN

(2) 0.652 mg KCN

(3) 0.266 mg KCN

(4) 0.4915 mg KCN

(8) srgaRd ueA :
......................... [ qEOT BT START HEHS
PHISATS & IdT T & ford farar wimar ¥
(1) HR® FARSS S

(2) Nessler’s test (2) I9eR e

(3) Liebermann’s test == (3) foraxd= o=

(4) Furfuraldehyde test :[i]'r;‘g';'-',...; (4) IRERAREES S
(5) Question not attempted (5) srgaRd e
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100.

101.

102.

103.

104.

Match List-1 with List-II and select the correct

answer sequence of Odour and Substance —
List-I (Odour) List-II (Substance)

(A) Garlicky (i) Aluminium phosphide

(B) Fishy (i1) Arsenic

(C) Bitter almond (iii) Chloroform

(D) Apple like (iv) Cyanide

Code - ‘

(1) (A)-G1), (B)-(1), (C)-(iv), (D)-(ii1)

(2) (A)-(), (B)-(iii), (C)-(iv), (D)-(ii)

() (A)-(1), (B)-(i1), (O)-(iid), (D)-(iv)

@) (A)-(id), (B)-(iv), (C)-(D), (D)-(iii)

(5) Question not attempted

For the detection of Heroin, Mandelin Reagent
gives which of the following colour?

(1) Dark Blue

(2) Reddish Brown

(3) Light Red

(4) Olive Green

(5) Question not attempted

Which of the following reagent is used for the
identification of Kaner poison?

(1) Vanillin sulphuric acid Reagent
(2) Ammonium vanadate Reagent
(3) Mandelin Reagent

(4) Griess Reagent

(5) Question not attempted

Which of the following is a fundamental mantra

for first police officer to preserve the scene of
occurrence?

(1) As inside as outside

(2) As wider as closer

(3) As above so below

(4) Asis as it was

(5) Question not attempted

For the detection of Carbon Monoxide Gas,
which of the following chemical test is
performed?

(1) Hoppe-Seyler’s Test

(2) Gibbs reaction Test

(3) Ester Test

(4) Dichromate Test

(5) Question not attempted

100.

101.

102.

103.

104.

-1 3 -1 B e A AR iR

Ty Ud U & HEl SR IAgHA DI FIAT
P —
k5 Gl QQL) A1 ()
(37) TEgA S () vegfAfTq Bipgs
(@) Fwel o= (i) mifa®
(|) Pedr STaT™ ST (iii) FARMDEH
(?) |9 oA (iv) AIISS
ﬁa_

(1) @N-Gi), @)—@), ()—Gv), (I)—(ii)

@ @)—@), @i, @)—Gv), @i

@) @), @), @)—Gii), @)—iv)

@) (@)—(i), @)—Gv), @)—0), (@)—(ii)

(5) argeiRa %

g BT gar o @ forg, Aefem afieH®
for=forRag & & =T <7 <ar &7

(1) s =g

(2) ST 51879

(3) &rse VS

(4) 3iiferg 9=

(5) srgaIRa ueH

fa=folRad & & @9 IfEHs FR @AY 3
Sifa @ foru SuanT far wirar 87

(1) afsfom TorgRe e s

(2) @I A9TSe IHIE

(3) F=fe fHH®

(4) g AWpa®d

(5) srTRa we

frfoRRad # ¥ ei=ar yed gferw e &
oY TR B WS HY &7 qo FH 27
(1) ST 38X 9T 9TeX ®

(2) RraT ¥ a1 F9 7

(3) 9T HWR I A '

(4) Sr o 99T B B

(5) srgafRa weA

HEI-AFTFEES N BT UdT T B forg
frafaRaa § 9 99 e 9eor fhan
ST 87

(1) BU—TER BT TRET0T

(2) firsq wfafssar oheror

(3) TR X

(4) ST X

(5) Irg=IRT weA
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105. Which of the following is primarily responsible

106.

107.

108.

109.

for phase-I drug metabolism?

(1) Glutathione S-transferase

(2) Sulfotransferase

(3) UDP-glucuronosyltransferase

(4) Cytochrome P450 enzyme

(5) Question not attempted

“The Court may, if it thinks fit, summon and
examine any such expert as to subject matter of
his report”. It is mentioned in which Section of
Bharatiya Nagarik Suraksha Sanhita, 2023?

(1) 329 (2)

(2) 329 (1) [=][]
(3) 329 (4) b
4 329 (3)

(5) Question not attempted
Which of the following statement is incorrect?
(1) Duquenois-Levine test is for Cannabis

Sativa.
(2) Gold chloride test is used for Cocaine.
(3) Van Urk test is used for Abrus Precatorius.
(4) SCOT test is used for opium.
(5) Question not attempted

In poisoning cases, viscera is preserved in which
of the following chemicals?

(1) Rectified spirit or Formalin

(2) Saturated saline or Formalin

(3) Rectified spirit or Sodium fluoride

(4) Rectified spirit or Saturated saline

(5) Question not attempted

Which of the following photograph needs to be
taken along with a scale?

(1) Close range photograph

(2) Distant photograph

(3) Aerial photograph

(4) Mid range photograph

(5) Question not attempted

105. ffforfaa @ 9@ ®U 9§ @I =Ro-1 §T

106.

107.

108.

109.

Herifersd & forg =R @7

(1) TeERRE —giaHed

(2) GBI AT

@) FE—TERAIRTE B

(4) HTZCIhA P450 UursH

(5) srgaRa ue

I grTerd 31 FHEaT ©, 9 9% U vy

DI THT B FhdT & AR Sga Rud a7 Ry

IR B AN H THD! U B G| TS

ARG ARG YR wfear, 2023 &Y fbg g

# Ieoifad 87

(1) 329 (2)

(2) 329 (1)

(3) 329 (4)

@) 329 (3)

(5) Srgafa u=T

frraferRaa # Iar HoF anvgeT 27

(1) SyB-gE—cdE Tdev, dafey g1 &
fore s Brar R

(2) Tics FARIGS TRIETU, Dib & forg yInT
BT B |

3) 39 v wher, vaw NdeIRaw & forg wanr
BT 5 |

(4) Tpfc gdeo, i & oY I Bier 2 |

(5) SrgaRd ue

fawreaar & 89 91l ydRol A, fowRr @ S

Qg v fAwmedi # & fre ~amge § wxfea foan

T 87

(1) v Erwge fRaRe ar wifem

(2) HgTs HATRT AT Bt

() Y@wzs RaRe a1 9ifeys wiREs

(4) YFwrss RaRe a1 JgRes HelrsH

(5) srgaRa ue=

rfofad # 9 B9 TR 9 @ 9 ol

S AnfRe?

(1) 9o<I® & TR

(2) ¥ & TER

(3) &ars TR

(4) 727 X B TER

(5) IR U
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110. Which of the following is NOT recommended 110.

for packing and labelling of evidence?

(1) Each article should be packed and labelled
together

(2) Labels should not be pasted over weapons

(3) The packing should be secure

(4) Exhibits in the package should be padded
with cotton

(5) Question not attempted

111. Which of the following should NEVER be done ~ 111.

at crime scene?
(1) Photography from different angles

(2) Sketching of the scene area ? JIE]
T
(3) Remove all unwanted persons OEYE

(4) Changing the position of dead body
(5) Question not attempted

112. If in post-mortem there is generation of alcohol 112

in body, it is detected in which of the following?

(1) Vitreous humor

(2) Bile

(3) Urine

(4) Blood

(5) Question not attempted

113. What is the correct order of Ethanol metabolism  113.

from the following options?

(1) Ethanol - Acetic acid - Acetaldehyde
(2) Ethanol - Formic acid - Formaldehyde
(3) Ethanol - Acetaldehyde - Acetic acid
(4) Ethanol - Formic acid - Acetaldehyde
(5) Question not attempted

114.In older days, the main causes of crime were 114

grouped in three categories, all starting with
‘Z’. In that context, the word ‘Zun’ refers to
which of the following?

(1) Woman

(2) Land

(3) Man

(4) Property

(5) Question not attempted

fr=fafReg & 9 @90 @ & T iR

sefer @ fog @@ fafy =8 87

(1) T I BT TS AT 9 I ofddl fHhar
ST A1y

(2) 5t BT SRR W RgemET FE SET TRy

(3) fFHT FRid B+ =fRy

Mﬂmﬁmﬁhaﬁaﬁ?ﬁwﬁﬁeﬁm
ST =y

(5) srgaiRa we

frafalRea § 9 @99 $1 TRY WA W)

FH BT BT AMRY?

(1) R PN A BIUTH! HAT

(2) TcIeId 89 BT X@Iad g9

(3) 91 smaifod Afdadl &I 8T

(4) g & Rafy &1 gger

(5) Irg=iRa wee

Ife g & 915 Yodred & AT BaT B, @

o1 uar fefoRag & 9 s o s

114

(1) w=EE g

(2 o

@) =

(4) e

(5) srgafa U=

f=feiRaa fAeedl & 9 e AcEifersa &1

TEl B T 87

(1) soete — gRIfes s — gRicfosess

(2) soHfa — wiffs e — wifessss

(3) sHTa — tRicfesess — hifes s

(4) 3T — wiffe TRis — gRicfoserss

(5) srg=Ra ue

U B 3, R & DRI bl &I I

arn F e far = S 9 9 URY B

| 99 Hed # 9 s f=fafaa # feew

HEY @1 &7

(1) =0

(2) s =

3) oy

(4) |=afy

(5) IR ue
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115.

116.

Which  of the following pair is
(Poison-Smell during postmortem) not matched
correctly?
(1) Acetone — Sweet, fruity
(2) Selenium — Wintergreen
(3) Mercaptans— Rotten eggs
(4) N-3 pyridyl methyl,
urea—Peanuts
(5) Question not attempted
In context of management of poisoning cases,
which of the following is not a measure to
remove absorbed poison?

N-4 nitrophenyl

115.

116.

P Sier (R—dredidn & <R ) I8

gHfora T8l &°?

(1) T — R, %ol S

(2) Ryenfs — fdeafm

() Fhe~ — IS IS

(4) 73 usRfSa s, -4 s
IRIT—HTHell

(5) SrgaRd e

faNTaaar & Al & YeEH P HeY §, g

iy @1 gem & fou =fafeag & ¥ =9

SUTT TET 87

(1) Urine Alkalinization (1) gRT TemAzoe=
(2) Gastric lavage (2) Mg @
(3) Hemodialysis (3) e
(4) Hemoperfusion (4) EFTORTS
(5) Question not attempted (5) IrgaifRa wed
117. Spinal cord is preserved in which of the 117-f=fiRag ¥ ¥ foy wex ¥ 919 & 91 W

following poisoning deaths?

Bie IRMET & Wi 87

(1) Organophosphates (1) SiFFpRbed
(2) Strychnine (2) e
(3) Alcohol (3) VeplEat
(4) Heroin (4) Rz
(5) Question not attempted (5) srgaRa ued
118. Which of the following is an example of Non-  118. fam=ferRaa & & wivar IR—fds Afgey &1 v

Biological Matrices? "IRTERT B?
(1) Tea (1) =g
(2) Vomit (5] [=] (2) 999
:2; ]s3tlool @*;f% (3) o
ood (4) Yo
(5) Question not attempted (8) orafRd U
119. Assertion (A) - Only 2/3 of the capacity of the 119-3if@pee (A) —d/dat @1 &HaT &1 Pad
bottle should be filled with 2/3 9RT & O | W= S
viscera. Clid|
Reason (R) - This would prevent bursting of HROT (R) — 399 fAucasn ¥ 999 W
bottle if gases of decomposition SIS BT e 9§ §9g 8|

are formed.

(1) (A) is not correct but (R) is correct.

(2) Both (A) and (R) are not correct.

(3) Both (A) and (R) are independently correct
and (R) is the correct explanation of (A).

(4) Both (A) and (R) are independently correct
but (R) is not correct explanation of (A).

(5) Question not attempted

(1) (A) 7Tod & <fdT R) w8 2|

(2) (A) 3R (R) S T &1

(3) (A) R (R) AT Wda ©T A ¥ g 3R
R), (A) @ \ET =TT B |

(@) (A) 3R (R) TSI WG ©T 9 Gal & oAfde
R), (A) @ W& =grR=T & 2 |

(5) srgaRa gz

68 - % Page 25 of 32



120. In Hooch Poisoning cases, methanol is analyzed
by using which of the following chemical test?
(1) Schiff’s Reagent Test
(2) Nigam’s Test
(3) Fujiwara Test
(4) Nile Red Test

(5) Question not attempted

121. Which of the following search pattern usually
employs just one person?
(1) Spiral
(2) Grid
(3) Wheel
(4) Zone
(5) Question not attempted
122. “Cotton fever’ is associated with which of the
following condition?
(1) Drug I.V. abusers

(2) Drug Chewers E?E
(3) Drug Snorters é‘;gfﬁ

(4) Drug Concealers
(5) Question not attempted
123. Assertion (A): It is the Forensic scientist’s job
to identify the guilty party and
ensure that they are punished.
Reason (R): Forensic scientist’s primary
responsibility is to perform
scientific analysis and report
results regardless of help or to
hurt the investigation agency.
(1) (A) is correct and (R) is wrong
(2) Both (A) and (R) are individually true and
(R) is the wrong explanation of (A)
(3) (A) is wrong and (R) is the correct
explanation of (A)
(4) Both (A) and (R) are individually true and
(R) is the correct explanation of (A)
(5) Question not attempted

120.

121.

122.

123.

g9 fawemar & Amel # A9 @1 it @ fog

ffoRaa & & aar yar~e oo fha

ST 87

(1) RBre siffede gerr

(2) e @1 gdegor

(3) pfSTarRT TRIEToT

(4) 15 ¥ BT UK

(8) arg<Ra ue

frafalRad § ¥ @9 @9 ded MdR W

I P Afda BT Figaa Heam 87

(1) TSR

(2 frs

(3) =

@) 5=

(8) IrgARa ueA

wu gER’ rEfaReg 4 @ few Rafa <

e 87

(1) 377 AL g

(2) ST T9™ g

(3) T FE

() §T BUR aw

(5) Sr<IRd U

IAMFE (A): BREG  d96 HT IE
MG B T HIAT AR T8
e o 2 6 < <fa
far g |

SR (R): BRRG  d9e w1 ="
SRS dnfe T¥Emr B
SIS URUIH BT Fhford BT
g, 9% 91 gAY ISR &
e H B AT W THAN
ggarar & |

(1) (A) 921 8 8k R) To9a ®

(2) (A) 3R (R) SHT AfRTTT ©9 § I & 3R

R), (A) B Ted FRAT &
(3) (A) Taa ® 3R (R), (A) & 8T === ®
(@) (A) 3R (R) T AfFTTd ©U & HET & 31
R), (A) @7 HEI I=AT &
(3) srgaRa U=
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124.

125.

126.

127.

The first Fingerprint Bureau of the world was
established in Calcutta in the year -

(1) 1897

(2) 1901

(3) 1857

(4) 1910

(5) Question not attempted

Morphine is excreted in urine as which of the
following metabolite?

(1) Morphine-6-glucuronide

(2) Heroin

(3) Codeine

(4) Morphine-3-glucuronide

(5) Question not attempted

Who amongst the following established that
patterns on the fingertips of an individual do not
alter throughout his lifetime?

(1) Edward Henry

(2) William Herschel

(3) Hem Chandra Bose

(4) Azizul Haque

(5) Question not attempted

Which  Section of Bharatiya Sakshya
Adhiniyam, 2023 is related to admissibility of
electronic evidence?

(1) Section 60

124.

125.

126.

127.

fagg &1 ygen fhRfic &R dormar # fg ad
# zerfua fobar T or?

(1) 1897

(2) 1901

(3) 1857

(4) 1910

(5) srgaRa W

AiwiE, 73 # fFrefoRed § @ 5w deEerse
P BT § IcAMIT BT 87

(1) ABF—6—TgHITES

(2) &=

(3) wrEH

(4) ABAH—3—TIHRISS

(8) 3rg<IRa U

Tl g ¥ s @& e
suRafda ved 2, I8 fean ufqufea faar on?
(1) vsas &

(2) faferaw s9fa

(3) 29 9% 99

@) it &

(5) Irg<IRd U

WRA |eg ARFEH, 2023 @1 BN ORI
SoIFSi™e ARY B WIhRdl ¥ TEiET 87
(1) &1 60

BY Setitnins (2) grT 63
ection 2
[=]:[=] 3
(3) Section 65 G (3) &RT 65
(4) Section 56 W (@) =T 56
(5) Question not attempted (5) rgafRa w==

128. 128.

fufed RR ¥ W9 Y90 g9 9 Ui 81 fhar
ST FhdT 2, dF 39 b e ¥y e

In a decomposed body, when blood is not
retrievable from Heart, it should be collected

from which of the following site? SIRATT?

(1) Skeletal Muscle (1) ®ora B Fraue
(2) Artery (2) g&=1y

(3) Pleural Cavities (3) e 1Y

(4) Blood Vessels (4) zaq arfgaTy

(5) Question not attempted (5) Irg=IRa we=
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129. Henderson-Hasselbalch equation is particularly
used in understanding which of the following?
(1) Predicting the ionization of drugs
(2) Predicting the molecular-weight of drugs
(3) Predicting the bioavailability of drugs
(4) Predicting the best route of administration of

drugs

(5) Question not attempted

130. Which of the following is the primary purpose of
maintaining the chain of custody in criminal
investigations?

(1) To ensure that evidence is not altered or
tampered with

(2) To protect rights of victim

(3) To determine the criminal intent of the
suspect

(4) To organize the evidence by category

(5) Question not attempted

131. Daubert’s rule, which established expert
evidence scrutiny was laid down in which of the
following year?

(1) 1947
(2) 1993
(3) 2001
(4) 1991
(5) Question not attempted

132. Drug automatism is an example of which of the
following type of poisoning?
(1) Sub-chronic poisoning
(2) Acute poisoning
(3) Sub-acute poisoning
(4) Chronic poisoning
(5) Question not attempted

133.In an alleged murder the dead body would be
called -

(1) Mens rea
(2) Res gestae

(3) Modus operandi E?@
(4) Corpus delicti @'ﬁ'},

(5) Question not attempted

129.

130.

131.

132.

133.

TSXaI—odddled WHIGRY BT UHE w9 W

afaRed & 9 f5aer awsm @ R suan

e <trar 87

(1) ISl & JTINHROT BN FATGAT BT Tal
SR ‘

(2) 3iufeal & MPTHF—WR BT gdqr =T

(3) 3iferal & Sg—SucterdT & UdT ¥l

(4) 3Nyfert & <9 & g a¥ie &1 UdT o T

(5) rg<iRe ueA

=forRed & & ®i9r TR " ¥ 99

IATH B! 1Y @A BT Ui Sgevy 87

(1) 7' gFRea o1 @ fow & aegi § @8
g IT BS—BIS 78l B o b

(2) ifea & AfeER’ B e B forg

(3) Hfy & TuRISe R &I AT &= &
ferg

(4) el BT Aol & FTAR FIRIT G

(5) Srg=ilRa wed

fRvs—ary g a== sssd & g &)

=1 # < fw of § ufouwfed fear mar o

(1) 1947

(2) 1993

(3) 2001

(4) 1991

(8) JF<IRa ueA

3 ifemfew f=fiReg & 9 59 R &

fauTaTaT @1 SaTERT 87

(1) Fe—1® Quradr

(2) vage fawraadn

(3) Fe—vRye faureRia

(4) e fauTarar

(5) Irg=iRa weA

U BT BT H J TR BT T FeATIT STAN?

(1) 3= 3y

(2) ¥ =

(3) ArsY QATR=S!

(4) wrdw i

(8) srgailRa wed
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134. Immiscible system is used in which of the
following extraction techniques?
(1) Solvent extraction
(2) Dialysis .
(=]
(3) Percolation !

135.

136.

137.

138.

139.

(4) Distillation

(5) Question not attempted

Which of the following should NOT be used to

collect blood samples?

(1) Wrapping paper

(2) Manila envelopes

(3) Airtight container

(4) Paper bags

(5) Question not attempted

For sketching of outdoor scene which of the

following scale is suitable?

(1) 1:100 to 1000

(2) 1:1000 to 10,000

(3) 1:50 to 500

(4) 1:5to 100

(5) Question not attempted

Which of the following is the process of

ascertaining whether two or more objects have a

common origin?

(1) Assessment

(2) Individualization

(3) Comparison

(4) Identification

(5) Question not attempted

What was the contribution of Leone Lattes to

Forensic Science?

(1) Discovery of blood groups

(2) Developed procedure for blood grouping of
dried blood stains

(3) Invented Polygraph

(4) Developed anthropometry

(5) Question not attempted

Brick like red postmortem lividity is seen due to

which of the following poisons?

(1) Potassium chloride

(2) Cyanide

(3) Hydrogen sulphide

(4) Carbon monoxide

(5) Question not attempted

e

134.

135.

136.

137.

138.

130.

frfofRea fspdor gl § @ s
T gomrel &1 SUART fHhar Sirar &7

(1) faemas fAsmyor

(2) 3mE=

(3) afawau

(4) amHg

(5) FrgaRa wed

o1 & | T SUART Xad & T U BRA
& forg S far s =nfRy?

(1) T BETST

(2) w=er formrmT

(3) IR FETR

(4) BT B 9T

(5) sraRa T

HTECER T & @I & fog fefaRad 3
q P WA SUGET 27

(1) 1:100 & 1000

(2) 1:1000 ¥ 10,000

(3 1:509 500

(4) 1:59 100

(5) sraRe weA

foRad § @ S0 ufshar g8 gar o e @)
e 5w ar T ¥ e awgell &1 S
0% & 27

(8) IraRd U

BRE g & oM ded &1 =1 arree

o7?

(1) o Igel & @

(2 Y/ P W g I G 9T ¥g uihar
fawfaa s==1

(3) diciT® &1 AfASHR

(4) \afafa &1 faer

(5) ergaRa we

ST ol orel UeHdH Rrdifsd frafaRag &

I 59 TR © U9 B HRT ) Wl 27

(1) IR FIRSe

(2) 9SS

(3) BISSIGT Achiss

(4) FET—a-TIES

(5) srgaRa we=
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140.

141.

Which of the following is a type of crime which
is not limited to a scene?

(1) Forgery

(2) Murder

(3) Theft

(4) Arson

(5) Question not attempted

Specimen Seal impression is a part of which of
the following document?

(1) First Information Report

(2) Certificate of Authority Ei -,JE]
(3) Laboratory Report oI
y Rep Ela

(4) Forwarding letter

- (5) Question not attempted

142.

143.

144,

145.

Which of the following is not an antidote for
cyanide?

(1) Sodium nitrite

(2) Tocopherol

(3) Sodium thiosulphate

(4) Hydroxocobalamin

(5) Question not attempted

The spraying reagent used for the identification
of organophosphorus pesticide is -

(1) Mercuric Chloride Reagent

(2) Tollens’ Reagent

(3) Ninhydrin Reagent

(4) Dragendorff’s Reagent

(5) Question not attempted

Stas Otto Method is used for the extraction of
which of the following?

(1) Metallic Poison

(2) Volatile Poison

(3) Animal Poison

(4) Alkaloids

(5) Question not attempted

Miosis and Salivation are characteristic toxic
syndromes for which agent?

(1) Cholinergic

(2) Sympathomimetic

(3) Anticholinergic

(4) Sedatives

(5) Question not attempted

140.

141.

142.

143.

144,

145.

ffoRaa & & ®I9ar VAT R 8, ol b
frdl v wora ae @ & S 87

(1) Sirerarsi

(2) s

(3) =Y

(4) TS

(5) srgaRa ge

T e v fAfafea § 9 9 gwEw
BT e 87

(1) germ ga=r Rue

(2) urfere=or gHTOT UA

(3) garTeer R

(4) 39T UH

(8) gk ue

fr=fRag & HHaT ARATSS &1 TSI T8l
114

(1) \ifegs AEgrse

(2) SrpIHRIA

(3) AIfsT oggrche

(4) TgSiaarpETAAT

(5) srgaRa W

IR RPRE PISARE B UgaH & ford
ygaa Ryst< Hiar &7

(1) NGRS FTARFS JHABHD

(2) e FfFIH

(3) fAresfea feHe

4) e AMMHHD

(5) rxIRa ue

er—3iter fafey, M=faRaa § e fFrapdo &
forg Suarf 87

(1) =g Ry

(2) greefrer faw

(3) T3 faw

(4) Temdlgs

(5) rgaRa uw
ﬁaﬁmaﬁ?mwﬁmqﬁzﬁﬁmﬁﬁr@
cifeas RimgH 87

(1) pifefi®

(2) Rydenfasfes

(3) vErdIfefoie

4) Rsfeqw

(5) srgaiRa w9

68 -
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146.

147.

148.

149.

150.

For the extraction of toxic metals, a muffle
furnace is used in which of the following
method?

(1) Acid Digestion Method

(2) Fresenius and Babo Method

(3) Dry Ashing Method

(4) Selective Chemical Treatment

(5) Question not attempted

In management of poisoning case, which of the
following sequences will be followed?

(a) Poison elimination

(b) Antidote administration

(c) Evaluation

(d) Stabilization

The correct chronological sequence is -

(1) (b), (c), (@), (a)

(2) (a), (b), (c), (d)

() (c), (@), (a), (b)

(3) (@), (c), (a), (b)

(5) Question not attempted

Which of the following is a NOT common
component of passive and facilitated diffusion?
(1) Absence of carrier requirement

(2) Absence of energy requirement

(3) Requirement of energy

(4) Movement from low to high concentration
(5) Question not attempted

Nitrites convert Hemoglobin to Methemoglobin
by oxidizing iron to which form?

(1) Fe N

@ Fo* Em
(3) Fe** i
(4) Fe** =l

(5) Question not attempted

Which deleted section of Indian Penal Code
(IPC) is also NOT included in Bharatiya Nyaya
Sanhita (BNS)?

(1) 52 IPC — Definition of Good Faith

(2) 497 IPC — Adultery

(3) 51 IPC — Definition of Oath

(4) 46 IPC - Definition of death

(5) Question not attempted

146.

147.

148.

149.

150.

fwrea a1gell @ Fpdor & forg Awa wE &
gmﬁw%rﬁaﬁﬁ@ﬁmﬁ%ﬁ%mm
P)

(1) ar<t ura fafer

(2) wafa ok 9Er fafy

() g ww fafyy

(4) TS TEAME STAR

(8) srgailRa weA

fauTaaar @ Al @ ydyH ¥, AeEfofead § 9
P IATHH BT UTAT AT SIGT?

(a) vIgX I cId

(b) TE=E <

() HeIiH

(d) Reri®or

TE! BIATIHAD ATHT & —

(1) (b), (c), (d), (a)

() (a), (b), (c), (d)

3) (c), (d), (a), (b)

(4) (d), (c), (a), (b)

(5) argaRa e

fferRad # & BIar e 3R gId R
& U I Hch T8l 87

(1) 9% JTIIHAT BT T

(2) Golf BT IMATIFHAT BT JAHTT

(3) oIl BT IaTIHRAT

(4) =1 & Sz Aigdar & IR T

(5) FrgaiRa ueA

SgRe e B P w4 H ffefida e
AT BT qgHrafaT § uRafda &xar 27
(1) Fe

(2) Fe**

(3) Fe**

(4) Fe*t

(5) IgRd ueA

TRAIG &S dfedr d s faafa garT &1
RO g dfedr § o wre T8 far ar 87
(1) 52 MSYRA — AAEAT BT GRHTET

(2) 497 IEURT — AR

(3) 51 SYRAT — wrUy @1 gRYTT

(4) 46 AU — TG B gR™TET

(5) SgRd ueA
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